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Direction (Question No.l to 5) : Read the following passage carefully and choose the best answer out of
the four choices given after each question that follows :

*tV-directedJearning, in its broadest meaning, describe a process in which individuals tatce the initiative
wilL9!-yttbsW, in diagnosing their learning needs, formulation of leafrns gm,
identifying resources for leaming, choosing and tmplementing learning strategies and eiatugting t"irnfng
o'utcontes. Thus, it is important to attain n*ibtowledge easily and skilfullyfoi the rest of hii or"her life.
What ls the need for selflir-e-ctyd leaming-? One reason is that there. is convincing evidence that piopt,
who talce the initi,

e,

waiting to be The
secondreaSonisthatself-direcfedlearningismoreintunewtthouinaWogicat
developnterlt; an essential aspect of maturing is det'elopittg the.ability to take increasing risponsibiliry of
ol,tt' o\\'t1 lives to become increasingly.self-directe.d. Ti':e third reason is that many o/'the ,e.,i ,turnlopiriit
in edttcctriott put a heavy responsibiliQ on the learners to rake a good deal of initiative in their own lbirning.
To meet the challenges in today's jnstrycSue_enuironruent. sel,f-directed le.arning is mosr essential.'

In self-directed learning, an individual :

(A). takes initiative with or without the help of others
(R) is passive and waits for directions
(C) is helpless and dependent

(D) takcs initiative, without an objecrive

Tltere is need for self'-directed learnirrg l-.ccausc :

,'' rt'_ _

I

a-

, L . .. ti ii'trii,.rs:-c:icL.ii: ;.31;."a

1D) it is a modern method of leariing

\\Ihich *,ord best describcs self-directed learning ?

' {, Acrive lcarning
r LJ r l'essivc [earning
(.C) Comprrlsory learning
rD t Repulsivc lcarning

The ::t.-dern cnvironrnent according to the auilior is :

r -i i re strictive
lB r' instructirre

iCI less developed

(D) urpr,rcticable

5. The slmonym of the
(A) searching
(B)' examining
(C). identigring
(D) complying

word 'diagnosing' is :

Direction (Question No.6 to 9) : Out of four altematives, choose the one which can be substituted for the
given words/sentences :

6. A strong dislike :

(A) Reciprocity
(B) Entreaty
(C). Animosity
(D) Malice

1.

4.
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7. A place where birds are kept :

(A)' Aviary
(B) House
(C) Aquarium
(D) Apiary

8. Loss of memory:
(A). Ambrosia
(B) Amnesia

(C) Insomnia
(D) 'Forgetting

9. A study of sounds :

(A) Semantics

(B) Stylistics
(C) Linguistics
(D). Phonetics

Direction (Question No.10 to 12) : Select the most suitable alternative to fill in the blank/blanks in the
sentence to make it meaningful :

i0. In order to maintain good health one should eat a

(A) rich
(B) spice

(C)' balanced

(D) salty

11. The Police the mob.
(A). scattered

(B) disbanded

(C) drove

(D) dispersed

i l,e .ir.'pherd rl,as looxilr: .1 .:'-:-.i--

\ cre\\

3,. gang

r- fl ect

) liock

Dirrcction (Question No.13 to 15) : Fill rry tte blmks with suitable prepositions from the altematives given

under each sentence :

13. The visit of the P.M. has been advanced

(A)' for
(B) by

(C) to

(D) None of the above

two days.

14. Normally he stays ,.:-..;. I :'i:r li.l;-se.l:,'.-r

(A). up

lB) out
(tl) on
(D) None of the above

15. The history of Hindu religion da:--s

(A). from
(B) since

(C) for
(D) None of the above

diet.

U.
U

a]lalant Ilmes.
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SECTIql{-Ilr

@ru)
LQGICAL AND A}YALYTICAL REASONING

fuffi-o siffiqunem fuU)

Directions (Ouestion Nos.3l to 35)

All the six members of a family A, B, C, D, E and

F are travelling together. B is the son of C but C is
not the mother of B. A and C are a maried couple.
E is thc brother of C. D is the daughter of A. F is
the brothcr of B.

On the basis of above information answer the

fcrllolr,i ng q ucstions :

3 1. liorv man1, malc mcmbct's arc there in the

i:mily ?

(.-\ ) 1

(B) 3

tC) 7

(D) 4

32. Who is the mother of B ?

(A) D
(B) F'

(C) E
,r), \

:-i ::- ,,. -..:._. .:....:. -: i.'.. .r :.:. J

(A) One

(B) Two
(C) Three
(l)) Ijour

,14. Who rs thc uzife of E ?

(A) A
(B) F

(c) B

(D) None of the above

35. Which of the fo11o.,r,ing is a pair of females
?

(A) {E
(B) BD
(c) DF

(D) AD
Directions (Ouestion Nos.36 to 40)
In each of the following questions four possible
answer are given. Find out the most suitable
answer.

36. Children should avoid smoking because :

(A) it is a bad habit
aR) elders advise them not to do so

f- , ,i tS ,tr ,.tillrcCr-SS3i\., expcndifurCr

-) ...-.:- . -i l. -::-..1

fr{qr (sfi Ho-sr t oo)

qRqR d q+fr rr: g({q A, B, c, D, E st{ r qfi' HIE
qrf,r q{ t't wwq B Tfflq c mr S, t ffiq $E-trr

crretq Bat qrf,r rS tt Adr cfuil.kd qtB tr
qqq E,r$ t rl-fiq coll Dg-fr t eatl s(fl,
F qT{ t silq B m"il

Bq{m Ea-{i d GilqR qq ffifu-d q{-dt ol wq
t:
31. qRqR il frrd-i gw q.fl{q t ?

(A) I

(B) 3

(c) 2

(D), 4

32. B frt qTfrr e1r t ?

(A) D
(B) F
(C) E
(D)- A

33. A6lEiliTdt?
(A) g6'

(B) qt

(c) " fr"{
(D) qK

34. E et q-cfr et{ t ?

(A) A
(B) F
(C) B

(D)" uq{-d tit aH qfr
3s. ffi{fu fr a1q qtrdT 6r Tq t ?

(A) AE
(B) BD
(c) DF
(D). AD

It{vr (srq fro-so t +o)

ftrrfufuf, q-rtfi gr{T d ft\ fr$ w qri iqqrfrn
B-rTfr fr t sqgffi a-oq gi r

36. q-@i et wqm t q-q-{T qrRq qdlfu :

(A) rrd Sfr c{I-f,d t
(B) gg.f tqT T& wi o1 verr tfr d
(c) T6 Vm sFriqaqfi s-d t
(D)r q6 ENeq d frg ErForro t

ISeries--- 
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37 . Ice floats on water because :

(A) it is transparont

(B) it is spongy

(C) its weight is less than the weight of
water of equal voiume

(D) it is a substance which

quickly

38. Peoples use rubber soles in their

because :

(A) They are fashionable

melts

shoes,

(B) Rubber is more porous than leather

(C) They produce less souncl

(D) They are durable

39. A deaf is'ahvays dumb', b--C.r'il.-

I\t hcishornso
(B r ear is lnternalll' ct.'ill:':- : j t,-r tiu'oat

(Cl d.:ai .,;td dutrlb ai'e s\ i'. I ' ::s
(D f .',-.l.tkln'l is 1L'Jrlr: :- : - .. : - i-:t'ltl

trll-, c i-'

40. Pllti;,':ll .s'll, .-':, t:.'. i.,. ) -. '-- -:-

it rs :

(A.t hear te i
(B) whtter

(C) rarely found
(D) harcier

Directiuns (Ottrstion \os.-ll t" 15 r 
'

ltt.'.r;lt,'..;:: i-lir,ult1( Ql.c:- .' .: - - - - -'

Sel'lC. r,i :i-.:--'.lcl.s l|ith one L'i.,:., : -* . - . -:r . .-'

tl'Lc il:li.l-,: :.'.lllllc-r t-lom the i- :--- - :-. -:. "'-'

37. qd qifr q{ t-{f,I t eq}fu :

(A) qE qREYff t
(B) {rd rffi t
(c)" {trhl qN 6q E}dT t qft.wo eqrq

Gilqdr{ d wfr d qrq t
_ (D) qE tflr q-ilaf t qi 

'rc frq-d-dT t
is. Ei.r srqi qF\ fr w{ 6t itsaT qq}rr orfr t,

qqTfu .

\ j- -:.-- s.(A) d {If53 -E1rG 
E

(B) te-c ?rE ir ;-'f:'a fugqn df,r t
(C). q Oq 3Trd .r fi-G E

(D) t trors Erd t
3s. *n at*n {rr dmr t, qq\fu , i\i''

(A) q-6 tfil fi qe ftqr t
(B)" ar{ Glrf,R-fi rrq ii rrdT t g.nT E)-of

t
iC in- --l; -{ r qf{ t
j - ?* = -F dFqf {ti-g- .

: ',.

--- 1

tB; rfi 6

(c). s-q q-w ori qrai

(D) S-C,)r t
frftT ilII F3-41 I 4!-l

+--:,: ---: ; = - ---, FfqT Ct ?g-dT
j_--j

-_ .:_ * J:_. I

-.:
:_-
r. r -i
i_- - -r

'D' i0

+1. -_r. 6. 8, i6. 19,

41. 3,5,7,9, _
(A) 01

(B). 11

(c) 13

(D) 10

3, 6,8, T6, 19,"

43.

(A) 2r
(B) 38,
(c) 3s

(D) 36

1, 5, 13, 79,61.
(A) e0

(B) 103

(c) 10e

(D)' r25

44. 3,11,23,39,59,
(A) 63

(B) 73

(c). 83

(D) e3

(A) 2r
(B) 38

(c) 3s

(D) 36

1, 5, 13, 29,61.,

(A) e0

(B) 103

(c) loe
(D). Izs

3,11,23,39,59,
(A) 63

(B) 73

(c). 83

(D) e3

ISeries-A] ICET-BED :7021) lPage- 6l



A'
[ 45. 4,16,36,64,
\-r (A) 3oo

(B) 200
(c) 100

(D) lso

Directions (Ouestion Nos46 to 50)

In each quesfion two statements (t) aod (tr) are

followed by four conclusions. You have to take

these two statements to be true even if they seom to
be at variance from common known facts and then

decide which of the conclusions logically follows
from the given statements.

46. Statements :

(D All boys are beautiful.
(ID All beautiful are lovely.
Conclusio.nq:

(A) All boys are lovely
(B) Some boys are lovely
(C) Some lovely are boys
(D) All beautitul are not lovely

45. 4,16,36,64,
(A) 300

(B) 200
(c) 100

(D) 1s0

ft{qr FH riha6 t bol

+n f{i rrg sgq { d osrq (I) dq (rD fr$ rq t,
q) qR ffoddf w renfrf, t t osmt C q-.q qT{A

gg qrt ?16 Tnrndr f,ral t frhq wi E] I ffiq
dfqq fr ftt qs M t otq-eT M ft$ w
qerq $ qErN q{ d-d$rr-d inq t GrSflwT e{dr t I

16. 6e|{ :

(r)

(II)

M

4l Statement!_ :

i-l) \'lanish is a lrLl..,er'.

! - -_--i- _-:

rl, \{"-sh is..aii
(B) All tall men are players
(C:1 Tail men are not players
D r Manish is not tall

Statqments :

(f ) Some people are wise.
(II.r Some people are rich.
Conclusions :

(A) A11 the people are not wise but rich
(B) Somc w-ise people are rich
(C) Some people are neither wise nor

nclr
(D) None of these

49. Statelrents ' 49.
(I) Some cats are good.

(II) Some cats are black.
Conclusions :

(A) All black are good

(B) Some good are black
(C) Some black are good
(D) Some good are cats

(A).

(B)

(c)

(D)

47. oq1 :

1

(A).

(ts)

(c)

(D)

6AFI :

(D

(D
M
(A)

(B),

(c)

(D)

OSFI :

(D

(ID

M

q\t E-s-d 
-gtrifld 

$ I

w-,t q-+.cgn eR d r

q.lfr c-sd qrt t
eu ngd qrt $
W qri E-sd d

wfr q-+rgo q-ri r-S d

;-i5 :)- --$. ) I

,_ ___j_ __ :

q-frq EEi t
$'fi EE Grsft WI t
od ere* fu-dl$ q-S t
ffiq 6q-' ifr t

48.48.

qu 
"ilq 

q

31fr1

(A)

(B)

(c)

(D).

+

qs ftr gktn tr
eu ahr offir t r

Hrt dq qEqiq rS armq 3ift tmE
E-{$ t ot{ q-S

W &frdd erdr t r

qu frffi Erfi dr

e'fr 6r-fr crdr t
q6 srdr or-& t
Err 6r& srdt t
qu erd RfrEqY

ISerres- -.
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I
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50. Statements :

(I) All the books are notebook.
(II) Some copies are novel.
Conclusions :

(A) All the books are novel
(B) Some books are novel
(C) Some novel are books
(D) None of these

Dirpctions (Ouestion Nos.51 to 55)
In each of the following questions four possible
answers are given. Find out the most suitable
answer.

51. People wear goggles because :

(A) They protect &eir eyes from
diz,ting light

(B) They conceal &eircyes
(C) By it they look handsome

(D) Theyseebeterbyit

$fr yf,-d sT?srs gfrToT t r

euqMqtadr

s0. oQlq :

(r)

(II)

M,
(A) qrft g{f,d fr}f, t
(B) EE gw-d fr"{a t
(c) Es trid gwd t
(D), S{i fi ot{ Tfr

fr{qr Frq rio-sr t sg)

ffifud qrt6 srif d qR qqrfrf, sfl( frq r$
dr ea-erfu sqfffi unr of gir

s1. Filq .frkq1 qETi t qqtfr' :

(A) t *nft e1 ?r6rqhT t ffi 61 qqrfr

t
(B) t iru-ft sfi{q} o} ffi t
(c). Erd rm Ert f{ffir ar-dt t
(D) *rd am trn td;

L
U 52. Anii is not iitterested in Sunrl. because:

(A) Anil is a poor man

(B) Anil has no good manner
((-) \nrl i. bl.r.k

I)) .\r,tl t. ii s]:,,1, ,r'.',

i ,- r":r', \\'s3f\ a Lrnr:, "- ---....:-

\ rt rs pror ideC b'. _- -'-.''':: -'=.

.ost

i rt siares thc crrr..:-...
lC) he canbc easrlr :.-, .:..---
(D) its keeps him sna::

The right order of thc s::.-,. -, l
according to Freur-l r: .

(A) Supcr Ego-lD-Eg.'
(B) ID-I,go-SLr:.-i Fl.
(C) Ego-Super F_:.'-'l
,)t [D-iUr,:-l_- *.

)

(B). srfuf, ci-trT qER 
=r€f isor t

(c) 3Tfud 6Tdr t
(D) sThd qrcr *

54.

55. I^anguage is : 55.

(A) Speech

(B) Poshue

(C) Geshre
(D) Emotion

ISeries-A] ICET-BED :20211 [Page- 8]



SECTION-IV
(ws-lv)

GENERAL AWAITI'NESS

(strrq qn-firer)

-\

58

60.

61.

\\'hrch of the follouins is an ore of iron?
(A) Hernatite

iB) Alluminium
{C) Bauxite

tD t Cinnabar

Pure eold is :

t .\ ) 14 Karat
,lJt 2.1 Karar

iC) 18 Karat
(D) 22Karat

Which of the following is a bacterial
dr sease?

(A) Measles

(B) Leprosy
(C) Scurvy
/ J) I f)iabctcs

-\,-:,.. -.-:;-: : -:*.-- :, .-.: _,. _ _-_

u1.

(A) Vitamin C
(B) Vitamin D
(C) Vitamin A
(D ) Vitamin K

lvlost hazardous metal pollutant of
arr:unrohilc cxhaust is :

(-{ ) Mercury
(B ) Lcad
(C ) Tin
(D) Copper

Benzene is :

(A) Gaseous pollutant
(B) Liquid pollutant
(C) Solid pollutant
(D) All of the above

62. Which one of the following is not a search
engine ?

(A) Google
(B) Chrome
(C) Yahoo
(D) Bing

56 ftqPtr n ot{ gfi dt-d ercrqo t ?

(A)' rr- T$z
(B) 3ngtr-,ftqq

(C) dr-n--c

(D) ftT{R

s7. 
s-€' n)'n t 

'(A) 14 6{rf,
(B). 24 zmd

(c) 18 zF-{Td

(D) 22 zF-ild

s8. fr+qfufu-d t otr Cq"J qfr-f, i),T t?
(A). {q..q'iT

(B) std ,

(c) l-o-ff .

n ;,$;

;= -l

,^;' 
-Ezfri :

(B) ffiqo.
(c) frdlft{ A

60 3frddnT{d ts-6-"-- * ft-qf,i qTt Gr.qfU-n

flftmr{o qTg r*T ncu t :

(A) T{fr-er

(B) ts "(c) tr{
(D) Orq{

61. il$-q d ,

(A), i-riu u-qvo

(B) rfiu u-1u'-o

(c) e)v u-1vo

(D) EqfiD {r\t

62 ffifun { otq-Hr q{ S'-q TS t?
(A)

(B).

(c)

(D)

Trd
m'rq

qrd
h

A-
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64.

63.63.

64.

6565.

National Press Day is on :

(A) November 1't'
(B) October 21't
(C) November 16e

(D) January 7ft

Who among the following is known as

'father of ecology' in India ?

(A) P. Maheshwari
(B) S.K. Kashyap
(C) B.P. Pal

(D) Ramdeo Mishra

The most controversial amendment passed
during the emergency was :

(A) 43'd

(B) , 41't
(c) 42"d

(D) 44&

66. In u,hich o1' the ii)l1o\\'.irl*. i ,rr: i ,..,- 
-

Panchai'ati Rat flrst il:: ,- .t _ _-: :
(A) Rajasrhar
(B) Gu.larat

(C) Uttar Pradesh

(D) Bihar

In u,hich \.'iar. S arasr,,-ati ,\c4dcnr.- \\-3s

--:,,t',i.lr.; :' l.lrhlrarr...
.rr r - .j,rillier). 1-r,''

-i .' -ll:tuan,. 191'

.'r , . -i:nuarv. 19-l

j-..: \lriristn' ol F{u::'.,- - :.
Dtr e :, :rnlcnt \\'as ci-eatiu :: : -- . _ _-

(.\) i6 September. l9!_<

(B) 28 Decernber. l9 jl
(C) lSDecember. 19,i_:

(D) 02 September. 195j
llhe tomb of the ruler oiDel: . : :. -,: :_
(A) Vaishali
(B) Darbhan sa
( L') Sasarai:.

II Gaya

70. Lalit Kala Akademy was established on
(A) les4
(B) te72
(c) 1e6s
(D) l es3

q$r fu ftqqT .F-d t 2

(A) icl-Rl{ 1

(B) crf,qs-i 21

(C) ftrtR 16

(D). cn-dft 7

ft"4 t t st{ qrd fr qrRRa{frEfr d fror
.\:s
A6ellrl 6 :

(A) fto lritat
,Rr 

-::- --:-:
_^-.-^-.

(L l. !'-. j -.,--

--- 

:! 

-

:--r--:-= 7 fTa ,,frn er_ft ffid qyilffi
---

.1" ::--

j-, ':'-

\- t -, 
-

-: -

.._ = -._ ._- ;_+ ;.fi _-.1. _..

.. - __ : -' __

l- I -:'--; =

I e6s ti

1e53 ii

67.67.

-i{.r

69.
i
I

i

(c)

(D)
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71. India's first air taxi servige was launched in
which State ?

(A) Bengal

(B) Haryana

(C) Uttar Pradesh

(D) Andhra Pradesh

Who is the first Chief Defence Staff of
India?

(A) ManojMukundNaravane
(B) Rakesh Kumar
(C) Karambir Singh

(D) General Bipin Rawat

Which is the largest river basin in India?

(A) Ganga Basin
(B) Cango Basin
(C) Bay of Bengal
(D] None of the above

Which Siate is the largest producer of rice in
India ?

(A) West Bengal

(B) Uttar Pradesh

(C) Jharkhand
(D) Bihar

75. Is the unit

qKf, frt qEfr tqr tRfr tqT torl iT-q d
3IRR{ ftt 

'r$ ?(A) tiqrf,

(B)" 6ftqltrT

(c) sfl( skr
(D) 3[rrBr Ttqr

qI{f, 6I qtdl d$ 3TM M?q ETW frt{ I?
(A). Tr*q rqE 

q-{q't

(B) {ld{r Eqn
(c) 6-{Tfir Ri6

(D) q"rf, frfr-q $q-f,

qra fr sq-+ Grsr rfr tfrT-q otq sr t?
(A) trtTl tkq
(B). o1,il nfuq

(c) d,Trd 01 ET.fr

(D) srt t qt{ TS

qr\f, d arrf, mT qrqd WT sflrfiF $,'q st{
t?
(A). qftqq dila
(B) sf,{ trhT

(c) gr{€ru-g

(D) kn
tr{fr d wr{ t:
(A). Hz
(B) Kilo Hz
(C) HzlSec
(D) Kg H/Sec

a-d qrqq qqrq{ t :

(A) 776 qtC-fl

(B). 746 qqfl

(c) 11,ooo dw
(D) rrq t ot$ TS

71.

72 72.

73.t5.

t+.74.

(A) Hz

[Bl Kilo Hz
rC r HzlSec

(D r Kg HzlSec

76. Hors.- p{-lwer is equal :

(.{ t 776 watts
(B i 746 watts

t l- r 1 1,000 volts
{D r None of the above

Whlr ha. recentlv bcen appointed as the

Chiel.[u-'trce of India ?

(A) I{a.1esh Bindal
(B) Sharad A. Bobde
(C) Ramana N.V.
(D) H.J. Kania

78. Which State has won the e-Panchayat Award
202t in category-I ?

(A) A::dhra Pradesh

(B) Arunachal Pradesh

(C) Himachnl Pradesh

(D) Uttar Predesh

77. ETd S d ffi{ qrfir sT Tq =qtqlfr{r ftTffi
fuqT {qT t ?

(A) II-Sar fiiffi
(B). qKd go ffi
(c) {qun g{0fr0

(D) Fodo s.nqr

78. dN-r q f{H qcq i t*q-dTqd grffiri
fr-dT ?

(A) sTirr trkr
(B) 3r-$qT-qd rkr
(c). Rqr"rd tr*T
(D) sflq trkr

16.

j

/

I
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79.

80.80.

W.here is the Bank Note Press located ?

(A) Nashik
(B) Mumbai
(C) Dewas

(D) None of the above

Which great man's birth anniversary

commemorate as National Education Day ?

(A) Mahatma Gandhi
(B) Rabindra Nath Tagore

(C) A.P.J. Abdui Kalam
(D) Maulana Abul Kalam Azad

Tehri Dam is the highest dam in India and is

located on which river ?

(A) Kamala river
(B) Mahananda river
(C) Bhagirathi river
(D) Phalgu river

Who was the leader of Chipko movement ?

(A) Medha Patekar

(B) SwamiNathan
(C) Sunderlal Bahugsna

(D) None of the above

il f ::,::-,l plrocas:r:..'i:-.,r
!. 1 .-'..:.:il llrocessl:-* --:--..
,, ''r t.: i,t- tlte th;s-'

':.:-.',-r'Iitcra.'. . .. -. - .

.r . 
j l).-ccrnber

.' l l December

D ttl De cember

Who is the ilrst t'cmalc prr-.-:' I :

Sahitya Akademi Au'ald-l,.tl .. --" : -

Poetry ?

(A) Anita Verma
(B) Anjana Dev

(C) Anamika
(D) Asima Bhatt

85 The Constitution of India is :

(A) Very rigid
(B) Very flexible
(C) A combination of rigrdin' aid

flexibility
(D) Neither rigid nor flexible

83. What is PHP in programming ? 83.

(A) General purpose programr:ring

langueg:

t-fr +c iH o-d Terrfr-f, t ?

(A) qrfrtr

(B) 5q$
(c)' i-drfl

(D) sqfd fr t e'ri TS

Et{-t 116r-{ guq or s;T{ ftqfl irsq frEtT

ft-qq d sq ,t qqrqr qkir t ?

(A) q-6IcT rfrEt

(B) tR-< qTer e.ri{

(c) (oftodo orqd m-flq

(D) frdT{r 3Ed O-f,rq qruil-E

ffi'dq qrrf, 6r rrqt gql frT t oilE firfl

'rfr rn furd t ?

(A) 6qcil Tfr
(B) ro-<r qfr

(o q:'hrrft Tfr
(D) 5'FI T*
M iflidm ?i qq-dT 6,+{ a} ?

qTIITdi Bk{I g}TTH?T qNT

79.

8181.

i:82.

tLl

MT H[B(q

6Mt
85.

^--]L 
..-....._

{-\) --;-: JDCI\

(B) 3riDo ddrdl

(c). o-dkdr oir E-fi-dTq-q 6I q5-f,'q

(D) qE-frdTqfrzr-dli

(A).

(B)

\-
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87. 'Durand Cup' is associated with the game of:
(A) Football
(B) Polo

(C) Cricket
(D) Ilockey

88. Niti A1,og lormed in :

(A). 01 January 2015

(B) 01 February 2015

(C) 01 March 2015

(D) 13 June 2015

89, PNR-381 is a improved variety of :

(A) Rice
(B) Paddy

(C) Pulse

(D) None of these

90. Which is the best breed of br"rffalow'1

(.\) Murra
(B) Sahiwal
( C ) Totapuri
(D) None of these

91. Who won the Kabaddi World Cup (Circle
Style) 2020'l

f'-'-

'-.- --:

87. 'qr< mv' fu-€ d-d t riqkd" t :

(A)

(B)

92. \\'}ich organisarion won Nobel Peace prize- 92.
:01(.)'l
(A r WHO
(BI IINCEF
(cl wFP
{D II,O

93 V.'.-ro ts the Education Minister of Bihar at

^--' 
---t ')

Fri!:!llt

(.\, .{shok Ch:rudhry
(B) Krishna Nandan Prasad Verma
(C) Prashanr Kumar Sahi
(D) \:r;ay Kumar Chaudhary

9-+ Who is 'sahityakar' of Bihar ?

(A) RamdhariSingh'Dinkar'
(B) GopalSingh'Nepali'
(C) Pandit Ram Avtar Sharma
(D) All of above

95. Letter, email, telephone are examples of :

(A) Message
(.B ) C hannel

- ':-l;-..
--l 

- -., _.:..

(Ll thq.
(D) Ei-+1

ffi entm 6l r-d{ go{T :

(A) c=q-tr 01, 2015

(B) q.dt or, zors

(C) ET'j ot, zots

(D) qq 13, 2015

frogqoo{No-3e1 gfr sqo fu-rq t' ,

(A) ?lqf,

(B) tTIl'

(c) qr-d

(D) E-{t * oti q-S

tiT o1 lro-fr ggvo r-{f, ot{-lfi t ?

(A) Sf
(B) {{r&{ft4

(c) nffi
(D) E-{t t mt$ =rS

frw oev_$ q"d 6q (Hfu? {fls-d) Zozc :,
n \ _L_ .\ -\
duJdl Ll^id E /

-:--

rL r -ri(I;\-aii

irl qrGTirT

fr+d ftyq ilfu 3lqtt-2020 fu-s e{ar 6} qrq

83il ?

(A)

(B)

(c)
(D)

frETq d
(A)

sqOTqOGrl0

g-qoq$ofto

en-{ogmffir}o

ftnT q* dq t (o_fry{ ti) ?

orqtrf, ?)tlfr

(B) EMIT TtrI [flK qqf

(c) qTrf, 
EqN Hr&

(D) fruq gqn ffi
fr6nSsrtrcq-flrt?
(A) $qqrfr fria Aro*'
(B) .ilqrd fri6 'm'
(c) qko qH omdm yrqt

(D) sqgm H'ft

tex, f+f,, tfrmh sqn6{ur } :

(A) t$q
(B) t{d
(q dst6
(D) f{6tRf{

88.

89.

90

91.

93.

94.

95.

,C.r Passran

(D) Banglade
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SECTION-V

@{

98. Rrsht t,.', EJir:i,rtiol i.1:'.-' r.. - . , -

(A)

(B)

(c)

Which philosophy advocates role of a

teacher as strict disciplinarian ?

(A) Idealism
(B) Naturalism
(C) Realism

(D) Existentialism

Which ofthe following'Pillars of education'

has its support from sociology ?

(A) Learning to know
(B) ' Learning to be

(C) Learning to do

(D) Learning to live peacefully with
others

(A) 1 April lu09
(B) l April 20i0
(C) 1 April 201I
(D) 1 April 2012

iri,ic'iici.cs.,i' ic"t;.rinS J-:1.:'r,.1:",' :

,.' ..: ..:-..11\rn,': .-'..-: -'
'. ".-. :..:!ttl ,,i ----,-: -

, ..i.,. []'irrS .,t ::.,.
t .rnrlers:a.:- ' .-

:. :-..,tl.ri1CS tcachef -r:--.:-
:': .-:::.: r: ihc classroc,rt, ;:, ,.,
..r:' :'.irict-t.s to work oui s-'::.: .'. . - -:
si" e n in tlc l,.t-,ck. Students .li: 'r.:- . - 

.

lau, of :

(A) Contigr-rity
(B) Reinforcement
(C) Readiness

(D) Exercisc

In the history of educ.r:ic,:-- i:. I:-, -: : ,., , - -

n tcrrrporal scquer.JJ I:.- "-- .' :

rr''lr:;n.-c of the follou ins

(u) democracy

(b) religion
(c) politics

(d I modernisation
(A) a, b, c, d

(B) b, c, a, d

(C) c, b, d, a

(D) d, a, b, c

96. qg fi-rir ErlErrrra t "ri ftffi Grqlrro C
1fr-o ot \E ftqrrd-€ c{$rrn-i-drfr d w t
Hqeh o-{dT t ?

siIqITqTE

qgFdql-E

97.

.) (l 99.

i00.

r01.101.

100.

#

(A)
(B)
(c)
(D)

IScries-A] ICET-BED :2A21] fPage- 14]



.tl Knowledge of individual difference in the
class will help a teacher to :

(A) maintain discipline in the class

(B) evaluate the homework of students
(C) plan the teaching learning activities
(D) make ncce_csanr arrangements in the

class

Modemisation is the process of :

(A) Capitalisation
(B) Change and adaptation
(C) Sanskritization
(D) Strarification

The mid-day meal programme for priman,
school was initiated with a view to :

(.{) increase enrolment
(B t involve community
(C) engage teachers

(D) increase the employment

105. Which one of the following teachers would

loving and having high
philosophy

u'f io oftcn amuses his students

tq 6T srq orsqn-fi oi q-es

(A) mer t Gl:eriT{ q-{Tq rsi d ft\
(B) f+-{ilfi 6T.lE-6r{ Tflmq m-{i d

ftr
(c) 3]1?ru{-3twFlr. Oid frt d-dll q-{d

; ^,,,(, lc4\r

(D) 6eil { EfEr{m ffiRcn ori d fr\
elrtffirexrr qh-qT t :

(A)

(B)

(c)

(D)

qkq_dE

frs-t fi.a ordmq sTerfr-'fi M d ft\
{fl frqm q} sR"{ fr.il.rqr ,

(A) ITqrf,-{q qEqT q-.dri d frq
(B) w5aru o\ erfr-d m.it d td\
(c) oTt.arq-di m) e-w mri d ftq
(D) tqrm q6ri d ftT

frq it 6t{-t frrei-o o) s{rq ercqfr-o q-sq
-iL l9t.t r

(A) qr{q

(B) yilu eTftemdT {qdr dl
(c) qrfl 3il-{ ua enqqtflo Eeh
(D) cil emsq aTqi ftqTeff C afi--{ftn

6i

Tttorfiogooil-rodo qenfr-o gsT ur :

(A) 1e88

(B) reee
(c) 2000

(D) 2001

qqY"q"q frD qffiil of t ,

(A) frftuq 6*
(B) frmqftm
(c) ctrq tfr
(D) cfrq E1-6

frq q +tq*qT To ftierol mr t6-d{ nft"mT t?
(A) qrsll;r 3ili {frdq
(B) $fufli Gii qqtq-{

(c) tfr"ny otli UPfes
(D) {Ffds & !-{nfir{

r02. @si| q qfu
qlror t :

i r)_l103

1 04.104.

T-Srr"l
3rJ_f"d-dr 3i1

lrq-frz[{ r

iatrmirT

(c)

(D)

107.

106

107.

a
SCERT was established in :

(A) le88
(B) teee
(c) 2000
(D) 2001

Projcct method is propagated by:
(A) William James

(B) Kilpatrick
(C) John Dewey
(D) John lock

I 06.

108. Which one of the following is a good method
of'teaching ?

al) Lccture uncl dictation
:3 i ' . - j .-, ,c-.

-' *,:'-:-._ -_, :

- ,,- :: 
.-- 

-:- i

1 08.
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1 09. Which of the following does not belong to a
projected aid ?

(A) Overhead projector
(B) Blackboard
(C) Epidiascope
(D) Slide projector

Which examination has no place of
discrimination ?

(A) Validity
(B) Generality

(C) Reliability
(D) Objectivit.v

The stage in beru'een chrldhood and

adulthood ?

(A) boyhood

(B) infancy
(C) adolescence

(D) youth

Curiositv :

(A) Feel to kntru'
(B) Fcel t,: .rr e

(C) Ober

(D ) \\-irtrle Lnou'ieage

The aim of teaching is :

(A) to provrde knorvledge to stucienrs

t ll ) to encourage sru.11-nis for"1.:'r.':- : -
lC ) io ntotivate students
. D t .\11 oi the above

10e. frrE d olq slffis gs t $ie-tsm qS t ?

(A) sffi !)d-rci
(B) {qTqq-g

(c)' tfrfuqrrs)q
(D) wds q)-fi€(

1ll.111.

tt2.

1 13.

qfrer t seril-d mr ot{
te-dT

Eqlrrqrdr

fr,r+fl{qdT

rEfrEdr

1 r0.
Tadrq qs +dT?

r --- . . --:= :=L€I 6 dtq C effqafT ?

- ---:-

:--.

W Ern

-
113. frrerur .Dr e-Ei:q t

110. BT
(A)

(B)

(c)

(D).

1

Br

(C.)

(D) 
"

(D)

EI-rT d gH Brro-eT 6{r{r
fuarFfu)drqdifuffioowi
furTffid o) srftiRd o-fir

\lrhich method is raising interesr in class

teaching ?

(A) Study of students

(B) Clarity of aims
(C) Measurement of interest
(D) All of the above

115. The aim of value education :r, rir-'!-,.r..: .r.

students is .

(A) the moral r,alues

(B) the social values

(C) the political values

(D) the economic values

116. Which one of the follo$'rne is -:t-t::--.,. - 
j;4.

instinrtion ?

(A) Classroom

(B) Playground

(C) Library
(D) Seminar

r: ::- : -i _- 5G C frE q ftftl

a- q ,11i4-gn
...- -.q
I L <'i ].) t.tl cca

s-e qtq-{

ml]lfr
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I l-. What kind of work is remedial teaching?

(A) Instructional
(B) Negative
(C) Impcrative
(D) Theoretical

118. Who said '\Ian is periect and education is
the manifestation of the eristrng in man.' '?

(A) Gandhi

(B) Frobcl

(C) Vivekananda

(D) John Dewey

117. Bqz{Nrrqo f}reToT 6t ol{ t ,

(A)" 3r:tqrG@

(B) fr\qTffifi
(c) sreercq-fi

(D) ffi(-n

ttg.

120.

Which one of the following is not a projected 1 19.

aid ?

(A) Photographs

(B) Flash card

(C) Slides

(D) Puppet

When child fbils, means : 120.

(A) Child is not able to learn

(B) Child is not remember the answers

(C) There was a need of tuition
fD) The svstern has failed

118 ftnri c-s qgq S t nqr Rre,r, q_Jq t
fuflqr< T,idr 01 erftqpo t r' ?
(A) .frfi ffi
(B) trila
(c)' frisTi-<
(D) cf{ }ft

frq t otq-qT qetB-d srf,wr rS t ?

(A) st"e)Tm

(B) trdrT er-d

(c) {fltrs
(D), qq-i

qq {@T td 6tdr t, or,qd t ,

(A) q-ar q-.dT$ d fr\ q}.q {S t
(B)" ild t sn-t oi qK T& fu.qi B

(ci Erd C 1q3r{ o1 3riqrqf,il sfr

-r r-- --;i
. 

_Jr

Rough Work
6d)(o-ar

ISenes-A lPage- 171



E r*-,-"
L

6. Each question has four alternative

responses n:arked as (A). (B), (C), (D).

Yott sht,Lrld darken corrcct anstvcr in

corresponding circle.

6 y.{-5 m+ d fdq 6 ft6e (A), (B), (q q

(D) ftr ry t r erq-+) w& wr d rr{fkf, .fd
ot ,TrGl orrT t t

7. Your response to the item is to be

indicated on the OMR answer sheet

only.

7. qlil s wr d+a OMR sff qr6 rJ -
^ ^\ ----* \ .,:r qDfl a(i 6l

6. Answers marked in question booklet

will not bc evaluated. Rough work is to

be done at the end of this booklet.

8. rr{-$Rflmr q 31ft,d rrrt .m Wqrfr-c {&
fuqT GTqTI I Taa oTI" [q gR-iroT d 3rfrq YE
qi 6tt

9. You have to return only the original
OIVIR sheet to thc invigiiator at tlre end

of examinati on compulsorily.

9. omrfrt qfreir vqrq ili q( dTd SoVqNmo df

Td rh 6ffi fr0ro rr$fl 61 dfcmr or?rttrfi

tr
10. You are permitted to take away the

question booklet and second (carbon)

copv of OMR Sheet.

10 ;-'- -.----:: -;, tllI0gl{O C1 *ffi
: .: :' -; ---= T- .--:rf el

i1 Use ol calculator, log table or any

clectronic equipment in eramination
is prohibited.

11. :;1 = -:*- Ctr-l1 6T fide-de{, dlTf{f, qI

=-3 
'-' ;--ra+= st6-{u- 6- eqTrT ERfO t t

12. In case of any mismatch of questions,

the English version will be deemed to

be correct, if the question booklet is

bilinsual.

t_

13.

cir.-lt ()ir

)

treated as incorrect
fuqT, n) {fl T{qrd o-i q-drc rrf,d qmi qT\rrT 

I

t4. 14.

I , ri-' i: tiu tiC'i,l:ir: : ...' . -

r-
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